1. What is the Law of Increasing Costs?

________________________________________________________________

________________________________________________________________


________________________________________________________________

2. Calculate the Opportunity Cost of Producing the first robot:

the first robot =  __________wheat;       second robot = __________wheat;
3rd = ________wheat;       4th = ________wheat;      5th = ________wheat.

3. Mark a point “M” on your production possibilities graph that represents 

PRODUCTIVE INEFFICIENCY  or  UNEMPLOYMENT.

Mark a point “M” that represents a combination of wheat and robots that is

Currently IMPOSSIBLE to produce with given resources and technology.

4. On the graph above, sketch in a new PPC that would represent economic growth.

      5.   If we know that robots are Capital goods and wheat is a Consumer good, which


combination of robots and wheat, B,C,D or E, would result I more growth in

            the future?
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CHAPTER 2 *

Benefit Cost Analysis

Definition:  The selection of all possible alternatives where the marginal benefits are

                    greater than the marginal costs.

                    select  ALL possible options up to where MB = MC

                    this implies ignoring sunk costs

Purpose:      to make the best decision possible

Example 1 – How many guards should be hired?

     #
    total      marginal     amount lost  
     total benefit             marginal

guards
    cost           cost        in shoplifting     (amount caught)         benefit

   0           $     0           --               $ 1000                     $     0                   --

   1           $ 200                             $   500                     $ 500

   2           $ 400                             $   200                     $ 800

   3           $ 800                             $     50                     $ 950

Example 2  -  How many bridges should be built?

                   #               total          marginal            total         marginal

               bridges         cost              costs            benefits       benefits

                   0

$    0               --                $    0                  --

                   1               $   50 M                            $ 100 M

                   2               $ 120 M

      $ 120 M
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CHAPTER 4 *                       Demand and Supply

                                                                                              Quantity Demanded

An individual’s demand for Moore’s Pizza:        Price                 Per Month

                                                                              $15                       1
12 2

9 3

6 5

3 7

Assume that there are 1000 people with identical demand curves for Moore’s

Pizza, plot the market demand curve:

The Supply of Moore’s pizza:                                              Quantity Supplies

                                                            Price                                  Per Month

$15                                    5,000

12 4,000

9 3,000

6 2,000

3 1,000

In the graph above, plot the supply curve for Moore’s pizza.

Market Equilibrium:


What is the equilibrium price of Moore’s pizza? ___________________

What is the equilibrium quantity?                        ___________________

Market Disequilibrium:


If Moore charged $12 per pizza;



How many pizzas would be demanded? ____________________


How many pizzas would be supplied?    ____________________

There would be a surplus/shortage of ________________ pizzas.

If Moore charged $6 per pizza;



How many pizzas would be demanded?  ____________________



How many pizzas would be supplied?     ____________________



There would be a surplus/shortage of ________________ pizzas.
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CHAPTER 6 *                                      Incidence of Taxes

1. When demand is D1 and supply is S:

 equilibrium price = ___________   equilibrium quantity = _____________

2. When demand is D1 and a tax has been levied:

Equilibrium price = ___________   equilibrium quantity = _____________

3. The amount of the excise tax = _____________

4. The incidence of the tax on consumers when demand is D1 = ___________

5. The incidence of the tax on producers when demand is D1 = ____________

6. The incidence of the tax on consumers when demand is D2 = ___________

7. The incidence of the tax on producers when demand is D2 = _____________

8. Allocative efficiency was most effected when demand was _____________

9. Total tax dollars collected with D1 = _________________

10. Total tax dollars collected with D2 = _________________

G:\Adjunct Files\Healy\Macro Yellow Pages\Page 18.doc
CHAPTER 7 *                                          Utility Maximizing Rule

You have $10

The price of beer is $1 per bottle

The price of a steak sandwich is $3

The utility received from consuming beer and steak is given below.

PROBLEM:  How many beers and steak sandwiches should be bought?

Calculate utility maximizing quantities of beer and steak sandwiches when income equals

$10 and the price of beer is $1 and the price of steak sandwiches is $3 using the equimarginal principle.

Calculate the TOTAL UTILITY received.

CHAPTER 9*                              Price and Output Determination:

                                                     Pure Competition

Decision:  How many should the firm produce?

Goal:  Profit Maximization

2 Steps:    1.  Find the best quantity, where MR = MC

                 2.  Compare AR with AVC, produce only if AR > AVC

Assumptions:  Pure Competition

3 Cases:
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CHAPTER 9*                    Price and Output Determination:

                                           Pure Competition

Use the cost and revenue curves below to answer the questions that follow.

Assume that the firm is a profit maximizer.

1. Q = _____________________

2. P = ______________________

3. Will this firm produce this quantity? ________________________

4. AR = ____________________

5. TR = ____________________

6. ATC = ___________________

7. TC = ____________________

8. Does this firm earn profits or losses? ________________________

9. Profits or losses = ___________________

10. At this quantity, AFAC = ________________

11. TFC = __________________
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12. If the price dropped to $1.25, will this firm continue to produce? ___________

13. If so, what quantity will it produce? _____________

14. Will it now earn profits or losses? _______________

15. Profits or losses _____________

16. Why does it continue to produce? _____________________________________

17. If the price dropped to $ .75, will this firm continue to produce? _____________

18. What will be its losses if the price = $ .75? ______________________________

19. At a price of $1.25, the firm earns enough revenues to cover it entire fixed / variable cost, as well as PART of its fixed / variable cost.
20. Which curve and what portion of it constitutes the firm’s short run supply curve?

_________________________________________________________________
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UNIT 2

REVIEW QUESTIONS

Price and Output Determination:  Pure Competition

Use the cost and revenue curves to answer the questions that follow.  Assume the firm is a profit maximizer.

1. Q = __________________

2. P = __________________

3. Will this firm produce this quantity? ______________________

4. AR = ________________

5. TR = ________________

6. ATC = _______________

7. TC = ________________

8. Does this firm earn profits or losses?______________________

9. Profits or losses = _______________________

10. At this quantity, AFC = ___________________

11. TFC = ________________

12. If the price dropped to $ .30, will this firm continue to produce? ____________
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13. If so, what quantity will it produce? ____________________

14. Will it now earn profits or losses? ______________________

15. Profits or losses = ___________________

16. Why does it continue to produce? ______________________________

__________________________________________________________

17. If the price dropped to $ .15, will this firm continue to produce?

__________________________________________________________

18. What will be its losses if the price = $ .15? ________________________

19. At a price of $ .30, the firm earns enough revenues to cover its entire fixed / variable cost, as well as PART of its fixed / variable cost.  

20. Which curve and what portion of it constitutes the firm’s short run supply curve?
_____________________________________________________________
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CHAPTER 9 REVIEW

Price and Output Determination:  Pure Competition

Use the cost and revenue curves to answer the questions that follow.  Assume the firm is a profit maximizer.

13. Q = __________________

14. P = __________________

15. Will this firm produce this quantity? ______________________

16. AR = ________________

17. TR = ________________

18. ATC = _______________

19. TC = ________________

20. Does this firm earn profits or losses?______________________

21. Profits or losses = _______________________

22. At this quantity, AFC = ___________________

23. TFC = ________________

24. If the price dropped to $ .30, will this firm continue to produce? ____________
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21. If so, what quantity will it produce? ____________________

22. Will it now earn profits or losses? ______________________

23. Profits or losses = ___________________

24. Why does it continue to produce? ______________________________

__________________________________________________________

25. If the price dropped to OM, will this firm continue to produce?

__________________________________________________________

26. What will be its losses if the price = OM? ________________________

27. At a price of OA, the firm earns enough revenues to cover its entire fixed / variable cost, as well as PART of its fixed / variable cost.  

28. Which curve and what portion of it constitutes the firm’s short run supply curve?
_____________________________________________________________
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REVIEW

In the graphs below, SHADE in the areas representing the profits or losses that the firm will receive.

1. Q = ________________________
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Monopoly

REVIEW QUESTIONS

Use the cost and revenue curves below to answer the questions that follow.  Assume the firm is a profit maximizer.

25. Q = __________________

26. P = __________________

27. Will this firm produce this quantity? ______________________

28. AR = ________________

29. TR = ________________

30. ATC = _______________

31. TC = ________________

32. Does this firm earn profits or losses?______________________

33. Profits or losses = _______________________

34. At this quantity, AFC = ___________________
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11. TFC = _________________________

      12.  If the price dropped to $ .75 (due to decreased demand), oeterus paribus, 

             will this firm continue to produce in the short run? __________________

13.  Will it now earn profits or losses? _________________

14. Why does it continue to produce? __________________________________

______________________________________________________________

15. If the price dropped to $ .45, will this firm continue to produce? ___________

16. Is this firm achieving productive efficiency?  Explain.  __________________

______________________________________________________________

17. Could the monopolist “afford” to expand production to the level where price

Equals ATC, an output of 57 in this example?  Explain __________________

_______________________________________________________________
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CHAPTER 10                                              Monopoly

Use the cost and revenue curves below to answer the questions that follow.  Assume the firm is a profit maximizer.

35. Q = __________________

36. P = __________________

37. Will this firm produce this quantity? ______________________

38. AR = ________________

39. TR = ________________

40. ATC = _______________

41. TC = ________________

42. Does this firm earn profits or losses?______________________

43. Profits or losses = _______________________

44. At this quantity, AVC = ___________________

45. At this quantity, AFC = ____________________

      12.  TFC = __________________

46. Is this firm achieving productive efficiency?  Explain _____________________

________________________________________________________________
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Government Regulation of Market Power

1. What is antitrust policy?

___________________________________________________________

___________________________________________________________

___________________________________________________________

2. List the three types of mergers and make up an example of each.

___________________________________________________________

___________________________________________________________

___________________________________________________________

3. Why would a government sometimes choose to let a monopoly exist (no antitrust 

Policy) but regulate the price it charges?

___________________________________________________________

___________________________________________________________

___________________________________________________________

4. Use the graph below to answer the questions that follow.

a. What price would an unregulated monopoly charge? _____________________

b. What quantity would this unregulated monopoly sell? ____________________

c.  What price would a government enforce if its goal was an efficient allocation of  resources: ____________________________

d. What is the allocatively efficient quantity? _____________________________
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e. What problem can you see of the government enforcing such a policy on this 

monopoly? ____________________________________________________

______________________________________________________________

f. How might the government correct this problem? ______________________

______________________________________________________________

g. If, to correct this problem, the government chose to use an Average Cost pricing

Policy, what price would it allow? _______________

h. What quantity would be sold with an AC pricing policy? ________________

i. What would be the profits or losses earned by this firm? _________________

j. Discuss 3 problems with the AC pricing approach. _____________________

______________________________________________________________

______________________________________________________________

______________________________________________________________

k. How can you tell that this firm is a “natural monopoly?” ________________

______________________________________________________________

______________________________________________________________
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